Exercises on the use of census data for gender analysis

1. Based on slide 21 - Session 8 UNFPA presentation (see following), please propose further relevant aggregation for gender analysis.

[image: image1.png]@™ Tables, Indicators and Analysis
oo AN

Some examples of why you always need to think of
possible disaggregations/standardizations:

* Aggregated disability figures by sex;
« Disability by age and sex in Qatar (2010);
« Literacy and female household heads in Egypt;

« Ownership of rural property by male/female heads of
households in Nepal (2001);

+ Male and female enrollment in Ouagadougou (1996);
+ Poverty by headship in contexts of high emigration.




2. What indicator should be calculated to show the differential impact of disabilities on the school attendance of boys and girls? (Graph also available on slide 24 – Session 8 UNFPA presentation)
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For example:
Af/m = Not in School

Cf/m =Having a Disability
Bf/m = Having a Disability and not in School






3. Identify the issue in correlating (in the following graph) total fertility rate as a function of the female/male ratio of the population with at least secondary education (country-level data covering all regions of the world).
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